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Sir David Cox (1924–)
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SIMPLE EXAMPLE COX-REGRESSION

j Yj xj δj

1 5 12 0
2 10 10 1
3 40 3 0
4 80 5 0
5 120 3 1
6 400 4 1
7 600 1 0

Model:

• z(t|x) = z0(t) exp{βx}

Partial likelihood:

L(β) =
e10β

e10β + e3β + e5β + e3β + e4β + eβ
·

e3β

e3β + e4β + eβ
·

e4β

e4β + eβ
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Cox’ partial likelihood L(β) in the example:
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Maximum likelihood estimate: β̂ = 0.765.
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Cox’ partial log-likelihood l(β) in the example:
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Maximum likelihood estimate: β̂ = 0.765.

95% likelihood confidence interval: (0.1,3.2).
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Weibull regression (Cox-example)
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Data from Ansell & Phillips (s. 63)
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C1=Obs. times, C2=censoring, C3=”batch” no.
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MINITAB-analysis of data from Ansell & Phillips:
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MINITAB-result (among other output):

Test Statistics Method Chi-Square DF P-Value Log-Rank

0,04855 1 0,8256

This is in accordance with the result of p. 72 (Example 3.5.2) in
Ansell & Phillips.
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LOG MINUS LOG PLOT vs. ”t” FOR A&P DATA (s.63)

Parallel plots indicate Proportional Hazard
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LOG MINUS LOG PLOT vs. ”log t” FOR A&P DATA (s.63)

Straight lines indicate Weibull distribution
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COX-SNELL RESIDUALS SIMPLE COX-EXAMPLE

18



COX-SNELL RESIDUALS SIMPLE COX-EXAMPLE
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MODIFIED COX-SNELL RESIDUALS SIMPLE COX-EXAMPLE
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